CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 2

Haryana Staff Selection Commission

Notations:
1.Options showr in green color and with W iron are correct.

2 Options shown in red color and with # icon are incorrect.

Subject Name: CAT 2 Steno Typist Hindi CET Examn
Total Marks: 200

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

CAT 2 Steno Typist Hindi CET Exam
Group Marks: 200

CAT 2 5teno Typist Hindi CET Exam

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 627289301 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who was the first Chief Minister of Indian state of Punjab after the partition of 19477
Options:
1 % Bhimsen Sachar

-  Gopi Chand Bhargava

- » Pratap Singh Kairon

4 % Ram Kishan

Question Number : 1 Question Id : 627289301 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

1 ® mm
. T I S
. » a8 A

I TF-FT%%‘IF!’

Question Number : 2 Question Id : 627289302 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The States Reorganisation Comumission was set up by the Government of India in which of the following years?

Options:
1 % 1950

> « 1953
3 % 1955

g W 1957

Question Number : 2 Question Id : 627289302 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e & @ 7 a¥ 7 9Rg TWER @ T Y916 HERT $F T $7 7% o2

Options:

. % 1950

- v 1953
- % 1955

. % 1957

Question Number : 3 Question Id : 627289303 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following place was formerly known as Sarafabad?
Options:
, « Bahadurgarh
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- w Farrukhanagar
= % Rohtak

4 % Sonipat

Question Number : 3 Question Id : 627289303 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o # ¥ #iF a1 T 9go GUwEE & A7 § A JA9r 917

Options:

T R

o % WIOEATR
- » Ugde®
4.24'8\1?-11":!?

Question Number : 4 Question Id : 627289304 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Government of Punjab gazetted the establishment of the Haryana Vikas Committee in which year?

Options:
;. % 1958

> % 1959
s % 1960

4 « 1961

Question Number : 4 Question Id : 627289304 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

O IR & 5 E 99 7 ghaon Tew afafE Fr v = geetyg G g
Options:

= 1958

- % 1959

- % 1960
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4 « 1961

Question Number : 5 Question Id : 627289305 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which year was the state of Harvana formed?

Options:
1 % 1964

> % 1965
= W 1967

4 « 1966

Question Number : 5 Question Id : 627289305 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IO T F TSA WE&%‘B—W qT?

Options:

| % 1964

. % 1965
. % 1967

. v 1966

Question Number : 6 Question Id : 627289306 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following sectors has been allocated maximum funds in the Harvana’s Budget for the
financial vear 2017-18?
Options:

, = Agriculture

> « Education
=z % Power

4 % Health

Question Number : 6 Question Id : 627289306 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

L x TN

> v T
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4 » TETEL

Question Number : 7 Question Id : 627289307 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The 15" Haryana Sahitya Sangam was held in:
Options:
1 % Karnal

> « Panchkula

5 % Gurugram

4 % Faridabad

Question Number : 7 Question Id : 627289307 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ggeT AT FifgcT H§91H el NEifag f&ar ar ar?
Options:

1_&%?1?{

Question Number : 8 Question Id : 627289308 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As per 2017-18 estimates, the total revenue receipts for Haryana are expected to grow at:
Options:
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; ® 7.1%
> % 1.8%
5 « 14.06%

4 % 25.01%

Question Number : 8 Question Id : 627289308 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TY 2017-18 F UF HJHAA F HJER, FRATON F Fof Toiea Wiicaar 7 foraehr gia Hr Femaar 22

Options:

L% 7.1%
, % 1.8%
2 v 14.06%

4 % 25.01%

Question Number : 9 Question Id : 627289309 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following has written the storybook “Roti Tantra™?
Options:
1 % Madan Lal Sharma

- % Rajendra Swaroop Vatsa

5 % Vvivek Neejhavan

4 + Sushil ‘Rajesh’

Question Number : 9 Question Id : 627289309 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ale@e # ¥ e a1 g&as U a9 B 72
Options:

| % HEe el AT
> % 1% FIRT I
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Question Number : 10 Question Id : 627289310 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The novel “Vaishali Sundari™ is written by:-
Options:

, « Indira Swapn

> % Subhash Rastogi

5 » Kripal Singh

4 % Ram Kumar Afree

Question Number : 10 Question Id : 627289310 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘AT Geedl” ATHF 39T & A g

Options:

1 5%@'@'
gawu-—rh?ﬁ

> R

T W ng

, % 9 FAR AT

Question Number : 11 Question Id : 627289311 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following is the author of the book ‘Samudra Ka Sansaar’?
Options:
1 % Kamla Chamola

5 % Bharat Bhushan Sanghiwal

= « Ashok Bhatia
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, % Jai Bhagwan Goyal

Question Number : 11 Question Id : 627289311 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Feafafea 7 @ #Fla T &1 78R A\ F [F6F F owE g7
Options:
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=
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Question Number : 12 Question Id : 627289312 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A famous International Crafts Mela is held every year at in Haryana.

Options:
, » Panipat

> % Sonipat

-  Surajkund

4 % Kurukshetra

Question Number : 12 Question Id : 627289312 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ghamoT & F 9fy a9 v vfie 3musam Rrew #ar e Far smar 2
Options:

1_HW

zlﬁm
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Question Number : 13 Question Id : 627289313 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to the India Meteorological Department, which place in Haryana recorded the highest temperature this year
(2017), reaching 44.3 degrees Celsius?

Options:
1 % Rewari
- « Hisar

= % Sohna

4 % Ropar

Question Number : 13 Question Id : 627289313 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SR FEE T ST F 3aER, $§ 9 (2017) ERAOT F W T # A9 ge AU g
T amam, =i 44.3 e dfewaw T TgT T o1

Options:

, v BR
A8

Question Number : 14 Question Id : 627289314 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Haryana lies between the latitudes:
Options:

1 ® 22°19"Nto 25°25'N

= % 23932 N o 26°52'N

= % 25°29'Nto 28°15'N

4 « 27°39"N 10 30°55'N

Question Number : 14 Question Id : 627289314 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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gRamT ffaf@a # ¥ e e & 99 g &

Options:

| % 22°19' 3 W 25°25' 3
> % 23°32' 3 | 26°52' 3
5 » 25°29' 3 ¥ 28°15' 3

4 27°39 3 & 30°55' 3

Question Number : 15 Question Id : 627289315 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which Chief Minister of Haryana has the distinction of becoming the Defence Minister, Transport Minister and Railway
Minister of India?

Options:
, w» Bhajanlal

-~ » Banarsi Das Gupta

-  Chaudhary Bansilal

4 % Deuvilal

Question Number : 15 Question Id : 627289315 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g % RFE HEEHS #F SRT FT W A, IREEd AN AR @ FF 9 F aig 9ea 87

Options:
1. % &Hlddellel

Ly SCHI STH T

4 % cdrermer

Question Number : 16 Question Id : 627289316 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many times has President’s rule been imposed in Haryana?

Options:
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1 ® Two
- « Three
= % Four

4 % TFive

Question Number : 16 Question Id : 627289316 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g & geeafy araa frasr R sema I 27

Options:

1 ® Eﬁ-
o v el
T W EZIEY

4_&5':!1?

Question Number : 17 Question Id : 627289317 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Under the Haryana Panchayati Raj Act, 1994 a Gram Sabha is required to be established in each village having a minimum
population of

Options:
; % 300
5 « 500

5 % 800

4 % 1000

Question Number : 17 Question Id : 627289317 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g ST o sfefRTEa, 1994 F FET FgEaA Fr HEEYT IR Il T H TF AH
TS FT 2T AETE £

Options:

. % 300

- « 500
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- % 800

, = 1000

Question Number : 18 Question Id : 627289318 Display Question Number : Yes Single Line Question Option : No Option
of the Haryana

Orientation : Vertical
The number of members of the Panchayat Samitis has been determined under

Panchayati Raj Act, 1994.

Options:
1 % section 50

> % section 52
3 « section 58

4 % section 62

Question Number : 18 Question Id : 627289318 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
JoTad AR F gewdr S gea R T a9 HfaEas, 1994 Hir F A9 d
g & 18 3

Options:

Question Number : 19 Question Id : 627289319 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Select the incorrect option among the following.

According to National Disaster Management Authority. soil erosion in Haryana occurs due to

Options:
, « tidal waves dashing against coastal rocks

- » Wwater falling in the foothills and mountain ranges
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- w wind. mainly in sandy and dry belt areas

, = alkalinity, salinity and water logging

Question Number : 19 Question Id : 627289319 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fAraf@a & ¥ 99 BFeT &1 7379 F1|

TSET HTIET Fae SIeIoT & AR, gRamor F &g & aror F FROT BT 2
Options:

| ¢ T TEEr § TN T o gl F TR
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AEAT: et AR o doc &t H gar

3 ®
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Question Number : 20 Question Id : 627289320 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

is located in Hisar.

Options:
, « National Research Centre on Equines

- w National Dairy Research Institute

- % National Institute of Solar Energy

, % Sugarcane Breeding Institute

Question Number : 20 Question Id : 627289320 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tar # &g g

Options:
TS 39T FTHYT g

1.
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Question Number : 21 Question Id : 627289321 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The total number of districts as on September 2017 in the state of Haryana was
Options:
1. 22

o W 21

Question Number : 21 Question Id : 627289321 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fadeY 2017 a% R@wT T & o Fe @ e 2|

Options:

o B 21
z ® 20

g # 23

Question Number : 22 Question Id : 627289322 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Chaitra Chaudas Mela is celebrated in Pehowa:
Options:

, « To perform rituals of offering food and water to the departed souls of ancestors
> % To show various folk dances and musical instruments

- % Toworship Lord Rama and Goddess Durga
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4 % Toworship snakes

Question Number : 22 Question Id : 627289322 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

UgIaT H =¥ =gy Her Fr AS1ET 19T 27
Options:

| v T H AT AT HR TR & F T e R

| w TAfEeT W el HR G TeFTA F TR A F e

ST TH HR S g A T FA F o

3 ®

, » T H IS = F

Question Number : 23 Question Id : 627289323 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Loor dance is generally performed during the festival of:
Options:
1 « Holi

> % Deepawali

= % Janmashtami

4 % Dussehra

Question Number : 23 Question Id : 627289323 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X T A AT W FT & 3089 & g Far Frar 272

Options:

1 v B
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Question Number : 24 Question Id : 627289324 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Khoria dance is a variant of:
Options:
, % the Gugga dance

- « the Jhumar dance
=z % the Loor dance

4 % the Dhamal dance

Question Number : 24 Question Id : 627289324 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

QI T 398 & TFH FcF & TF TR g7

Options:
1 &8 o I‘..'

o o ‘r\ EW

4 % HHTel ofcd

Question Number : 25 Question Id : 627289325 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following dance forms of Haryana is performed only by males?
Options:
1 % Khoria

o5 of Gugga
z % Jhumar

4 % Loor

Question Number : 25 Question Id : 627289325 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

giamon i faemfof@a & & o qeg I &1 Jedia Faer G gany a7 fasar Smar 27
Options:
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Question Number : 26 Question Id : 627289326 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Hesd F v wEr wee-Rea Faw:

P N

g

’21

Options:

1_%A

Question Number : 26 Question Id : 627289326 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

1_%4#.

>« B
E_WC

4.%D

Question Number : 27 Question Id : 627289327 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

foreY U=t # Tler e A § FAT TAT 87

Options:
1 ® Cl

2_%3
z ¢ H

4.%-5'-

Question Number : 27 Question Id : 627289327 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

foreY U=t # Tler e A § FAT TAT 87

Options:
1 ® Cl
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Question Number : 28 Question Id : 627289328 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T oeaTer Fr TEEA: -
Options:

1 HTATAE-9T

o W HAFT

z R HHAN

g4 HANEF

Question Number : 28 Question Id : 627289328 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T T Fr TgE: -
Options:

1 HTATAL-UT

o W HAFT

z R HHAN

g4 HANEF

Question Number : 29 Question Id : 627289329 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T F FT H - TT T U¢ & o0 o0 & 39 & ‘T IO9T &7 oF FAT o970 T=aT 87

Options:

5 v BIET I

T UL Y
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4 % oA =T

Question Number : 29 Question Id : 627289329 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T F HT H ER-9IR T T TS & (o0 a0 & 39 & ‘T o9 &7 aIF FAT ST 9547 27

Options:

5 BIET =9
T YL =Y

4 % oA =T

Question Number : 30 Question Id : 627289330 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘HTHYOT T HiETTT ITHT F ’FER o

A. ~eQ_
SO A

Options:

1_%4#.

>v B
E_WC

4.%D

Question Number : 30 Question Id : 627289330 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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‘HTHYOT T HiETTT ITHT F AR o

A. ~=Q_
SO A

B. -5

Options:

1 & A
>« B
T W C

4.%D

Question Number : 31 Question Id : 627289331 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SreFaTer-FEs —2@‘“"’ T T T FATT
Options:

| S o OEer T o g

G SET & 9 qaalaTgcm%'
i ST & 9ger ST g

Question Number : 31 Question Id : 627289331 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

JreFaTer-REe —é“"* T HET JFATYT F9T0)
Options:
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Question Number : 32 Question Id : 627289332 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e B quT fRgAEER 9g=e|
Options:

| HAT Fd AT Bl

. % ed HId @1 BT

- w Sded B @I grem

Question Number : 32 Question Id : 627289332 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T e F ot R
Options:
| o HAT Fd TG grem

o » Ted FT TG grem

Question Number : 33 Question Id : 627289333 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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TFT A F 97 FEATER TE= |
Options:

1 ¢ fB=or yor wAafa

5 ® %ﬁrmm

i fEegras yar wfAfa

, % [gedl FEN HFIEH

Question Number : 33 Question Id : 627289333 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tord A Fr qUT fRuAEar 9g= |
Options:

1 ¢ %ﬁmm

5> ® %ﬁrmm

o fErgras yar vt

, % [@=dl Y9N HFIEH

Question Number : 34 Question Id : 627289334 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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qg”a?n" FT T ee-FEa gg=e:

Options:

1_%A

Question Number : 34 Question Id : 627289334 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

qg”am" FT TET Uee-THEd Jg=ara:

Options:

1_%1&.

2_%5
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Question Number : 35 Question Id : 627289335 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘HTETHAT Al ATGH g ar & fow T aramr-REa 9g=m:
A'--. -

D. “—'_'9

Options:

1_%;\

Question Number : 35 Question Id : 627289335 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘HTEeTehdl el HTSH & ar & foIT Fer aerare-Res ggae:
B = -

D. “—'_'9

Options:

1_%)"!\
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Question Number : 36 Question Id : 627289336 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T AR @ 3 Eadhrd
Options:

v TR Al

5 % FIR HFIEeh

£
= % FE{ HHAIR

4 % T TE

Question Number : 36 Question Id : 627289336 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

qUT fAUAGER Whd 3 Fr 9|
Options:

| v =R wfata

., % SO BFAEH
s % TR THATH

4 % TOR H@EY

Question Number : 37 Question Id : 627289337 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Tl &1 TET ehd F417
A

Options:

1_%1&.

> « B

4% D

Question Number : 37 Question Id : 627289337 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TE=Telr =T Fér T Fa:

Options:

1_%A

>« B
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Question Number : 38 Question Id : 627289338 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

mr—sr’a:rqq?rmar-rr&':

B '\/

Options:

1_%A

Question Number : 38 Question Id : 627289338 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

m;—;’a:ra?rﬂ%amﬁ':

Bt '\V

Options:

1_%1‘:\
2_%5

E_WC
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Question Number : 39 Question Id : 627289339 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s g~ e
Options:

| » f&=8r 93 waEs

o B %ﬁwm

L [BoGEC EERREIEES

., [&=d! 99 H9s

Question Number : 39 Question Id : 627289339 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s e I s e
Options:

| v &= 9 FuEs

. » Teear 99 WA

- Eeg sl 99 HIEe

4 B %ﬁrﬁm

Question Number : 40 Question Id : 627289340 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o

¥ 3T @Er greTer §av
Options:

| % FOF TQ
., » $H farg
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Question Number : 40 Question Id : 627289340 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e

% fv & FEY T
Options:

| % P TG

o % ﬂ?ﬁ:‘iﬂﬁ

o w SHH T

4.f3—m#m

Question Number : 41 Question Id : 627289341 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TBATAT & el 2Mee-REd a910|

Options:
1. ¢ A
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Question Number : 41 Question Id : 627289341 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TBATAT FT Hel 2lec-gd I910)

Options:
1.« A

Question Number : 42 Question Id : 627289342 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HHAR-2TeE, @08 & e ‘gRarer & gl &7 H/e) Hord 94TC

e —e e

Options:
1.« A

2_%5
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4 % D

Question Number : 42 Question Id : 627289342 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TAATR-2eg, 07 & 3gar ‘gharer & gRamr &1 §Er ¥hd aan:

Options:
1.« A

Question Number : 43 Question Id : 627289343 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fora Of d@a F 3Wea =IfFa Al 7 5w g w fagsa dar @

Options:

| % U (FTH)

, o FRIfE (FARTH)

L« TFemET (HRER)

, « UTHR (THBeee)

Question Number : 43 Question Id : 627289343 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Tora ol Braet & 3Wea fad Al & 8 98 W e gar &
Options:

, % TSR (FT)

, o FRIfARE (FAET)

. TESTET (RTRAT)

=

, & TFR (THBwT)

Question Number : 44 Question Id : 627289344 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e R @ Gef Ay S @ gga
o u HAiSel HITHET HTH ETedes
5 x HiSH HThEX HTH s

. » AfTFa AR 3w Rfew afaf

Question Number : 44 Question Id : 627289344 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e R @ GaRE Twwe S @ ggen
, » Afwa ATFET 3HE FTfeaed
- x HiSHeT AT 376 TFsimeT

4 » Hfewa AW 3w A gl
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Question Number : 45 Question Id : 627289345 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TEAATA 2T =T areanr & forw fEa &= 9g=e|

Options:

1_%1&.

>« B

4% D

Question Number : 45 Question Id : 627289345 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TEAATA 2T =TT e & forw R & 2=

24 —
Options:
1% A
> v B
z % C
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Question Number : 46 Question Id : 627289346 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose vour answer from the options given:

___Governor of Puerto Rico,  US territory, has told __ island's 3.5 million people to seek shelter.

Options:
L o Al the

5 % The, the, the
5 « 1he. a the

4 % A, an, the

Question Number : 46 Question Id : 627289346 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer fiom the options given:

___Governor of Puerto Rico.  US territory. has told  island's 3.5 million people to seek shelter.

Options:
, % A, a, the

5 % The, the, the

5 The, a, the

4 % A, an, the

Question Number : 47 Question Id : 627289347 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer firom the options given:

From his desk at  European Space Operations Centre in Darmstadt, Germany, space debris analyst Tim Flohrer
keepstrack of  23.000 or so catalogued objects currently orbiting  Earth.

Options:
1w the, the, the
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» % an, the, the
5 % & the. an

4 % the, the, an

Question Number : 47 Question Id : 627289347 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose vour answer from the options given:

From his desk at  Furopean Space Operations Centre in Darmstadt. Germany. space debris analyst Tim Flohrer
keepstrack of  23.000 or so catalogued objects currently orbiting  Earth.

Options:
, « the, the, the

5 % an the, the
5 % & the. an

4 % the, the, an

Question Number : 48 Question Id : 627289348 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given, choose the one that has the correct prepositions.
Options:

1%

The 34-year-old, at Perthshire. arrived in Paris one day ahead of schedule having cycled the 18,000-mile
route in 79 days.

2. %
The 34-year-old. from Perthshire. arrived on Paris one day ahead of schedule having cycled the 18.000-mile
route in 79 days.

3%
The 34-year-old. from Perthshire. arrived in Paris one day ahead of schedule having cycled the 18.000-mile
route since 79 days.

4
The 34-year-old. from Perthshire, arrived in Paris one day ahead of schedule having cycled the 18.000-mile
route in 79 days.

Question Number : 48 Question Id : 627289348 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 2



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 2

From the options given, choose the one that has the correct prepositions.

Options:
1. %

The 34-year-old, at Perthshire. arrived in Paris one day ahead of schedule having cycled the 18,000-mile
route in 79 days.

.
The 34-year-old. from Perthshire. arrived on Paris one day ahead of schedule having cycled the 18,000-mile
route in 79 days.

= e
The 34-year-old, from Perthshire, arrived in Paris one day ahead of schedule having cycled the 18.000-mile
route since 79 days.

4 W
The 34-year-old. from Perthshire, arrived in Paris one day ahead of schedule having cycled the 18,000-mile
route in 79 days.

Question Number : 49 Question Id : 627289349 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Choose vour answer fiom the options given:

Rather than obsessing about something that might not even exist. experts like Dr Bhagat wish the media and others
focus more on real mental health issues in young people.

Options:
1 # can

> % could
z « would

4 % must

Question Number : 49 Question Id : 627289349 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Choose vour answer from the options given:

Rather than obsessing about something that might not even exist, experts like Dr Bhagat wish the media and others
focus more on real mental health issues in young people.

Options:
1 % can
- % could

3 « would
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4 % must

Question Number : 50 Question Id : 627289350 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four parts as options. One of the parts contains an ervor. Choose the option that has the ervor:
Options:
, w Inspired by Jules Verne's classic

- % adventure novel Around The World In Eighty Days,

- w Mark Beaumont began his journey from Paris on 2 July and cycled

4 « thorough Europe, Russia. Mongolia and China.

Question Number : 50 Question Id : 627289350 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four parts as options. One of the parts contains an ervor. Choose the option that has the error:
Options:
, % Inspired by Jules Verne's classic

- u adventure novel Around The World In Eighty Days,
- % Mark Beaumont began his journey from Paris on 2 July and cycled

4 ¥ thorough Europe. Russia. Mongolia and China.

Question Number : 51 Question Id : 627289351 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct synonym of the highlighted word in the sentence given below. Pay aitention to the
meaning of the highlighted word in context of the sentence.
"The experience has been incredible, and I'm excited to share this journey for years to come."

Options:
1 % absurd
> # credible

3 « unbelievable

4 % Dpreposterous
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Question Number : 51 Question Id : 627289351 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the aption that affers the correct synonym of the highlighted ward in the sentence given below. Pay attention to the
meaning of the highlighted word in context of the sentence.
"The experience has been incredible, and I'm excited to share this journey for years to come."

Options:
1 % absurd

> % credible
3 « unbelievable

4 % Dpreposterous

Question Number : 52 Question Id : 627289352 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in context of the sentence:

During the trip, the cyclist was exposed to sub-zero temperatures in the southern hemisphere and smog from forest fires in
North America.

Options:
1 % clothed

- % blocked
3 « sheltered

4 % withheld

Question Number : 52 Question Id : 627289352 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in context of the sentence:

During the trip, the cyclist was exposed to sub-zero temperatures in the southern hemisphere and smog from forest fires in
North America.

Options:
1 % clothed
> #% blocked

3 « sheltered

4 % withheld
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Question Number : 53 Question Id : 627289353 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the following sentence using the appropriate collective noun from the options given below.

When you visit Shanghai. don’t forgettobuya  of pearls for yourself.
Options:

|« String

> % pack
z % mob

4 % oyster

Question Number : 53 Question Id : 627289353 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the following sentence using the appropriate collective noun from the options given below.

When vou visit Shanghai. don’t forget tobuya  of pearls for yourself.
Options:

| o String

- % pack
= % mob

4 % Oyster

Question Number : 54 Question Id : 627289354 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose such an option that could substitute the highlighted words in the below sentence:

Many young authors of today write under a different name.
Options:
1 % Zealot

-  Pseudonym
5 % ANONymous

4 w llegible
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Question Number : 54 Question Id : 627289354 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose such an option that could substitute the highlighted words in the below sentence:

Many young authors of today write under a different name.
Options:
1 % Zealot

o  Pseudonym

5 % Anonyvmous

4 = llegible

Question Number : 55 Question Id : 627289355 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the one that has the highlighted word spelt correctly:
Options:

, w Preparing this questionaire was a daunting task.

-~ % Preparing this questionniare was a daunting task.

-  Preparing this questionnaire was a daunting task.

, % Preparing this questionnaier was a daunting task.

Question Number : 55 Question Id : 627289355 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the one that has the highlighted word spelt correctly:
Options:

. w Preparing this questionaire was a daunting task.

> % Preparing this questionniare was a daunting task.

Preparing this questionnaire was a daunting task.

3.

, % Preparing this questionnaier was a daunting task.
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Question Number : 56 Question Id : 627289356 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘FrEfrer oreg 4T B
Options:

w 90T + SU W

1

, o TE+FUT T
- x G + 3 F

4 % RN+ AH

Question Number : 56 Question Id : 627289356 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘FrEfrer oTeg & B
Options:

, x TR+ SU W
o » TE AT
5w G+ 3R F

4% dET + AT

Question Number : 57 Question Id : 627289357 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e’ eg H FHiF-9T TAF 27

Options:

G e T

2N SBLE
5 % HeOdreTa

4 ® 1]

Question Number : 57 Question Id : 627289357 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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e’ eg H FHiF-9T TAF 27

Options:

G e T

2N SBLE
5 % Hegdrea

4 ® 1]

Question Number : 58 Question Id : 627289358 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TSgeFT F=7 7 & 9O & O uF eg g

Options:
1 & 3HaleH

Question Number : 58 Question Id : 627289358 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TSOFT =7 7 g g & BT v ereg g

Options:
1 & IHaeH

Question Number : 59 Question Id : 627289359 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘GYST oreg T 9T &l &

Options:
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1 B HT

E_Hm

T ® 2
49 3

Question Number : 59 Question Id : 627289359 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘ST T T TAT Tl &

Options:
1 ® 3G

E_Hm

z # O

s v

Question Number : 60 Question Id : 627289360 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-H U H TA=T IR 872

Options:
1 ® IAE

= 5

I ﬂ'QEFﬁ

Question Number : 60 Question Id : 627289360 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

PA-T UAeg P T YL 87

Options:
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| ow
g_wq'lﬁ
3 R daﬂ

I ﬂ'%EI'-lfF

Question Number : 61 Question Id : 627289361 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T e 9eg F e T

Options:
1 ® 3odel

5 % 3HW
5 v HAfeled

4 % TG

Question Number : 61 Question Id : 627289361 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘T e oeg & fEHE B

Options:
1 ® 3e=del

- #% HA

4_&3@‘5_55

Question Number : 62 Question Id : 627289362 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-TT e IcHH &7
Options:
1 B Al

2_%3%@-
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4_363_51-

Question Number : 62 Question Id : 627289362 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIT-AT 2Aeg TTH &7
Options:
1 ® Al

2_-%3%@-

4_3637-51-

Question Number : 63 Question Id : 627289363 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e o & v sugET HErew g

Options:

wmﬂ:mﬂsﬁﬁ'r#am

1

sx SHET S IHEA A

m;ﬁﬁﬁ'g%mﬁrwmﬁ

4 %

Question Number : 63 Question Id : 627289363 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ey o7 F T sugEa HErew €

Options:

Jmﬂ:mimﬁﬁiam

1

o % 3 8T FT e
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sx SHETS G A

FAThAT S HIIS T A

4 ®

Question Number : 64 Question Id : 627289364 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

rfafle & ¢ Fia-ar g 57 B2
Options:

1 ® 3-T§:T

o v T

3_&33{%{

4 % FAS

Question Number : 64 Question Id : 627289364 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SRR AT s g7 2
Options:

1 % Hﬁ

> o T

3_%&3‘Tﬁ7{

4 % FIC

Question Number : 65 Question Id : 627289365 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AR F T FiT @1 oreg IGFT FAGT AT

Options:
1 % 90T
z . fehaAlt
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4_33?#

Question Number : 65 Question Id : 627289365 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AR F T FiT @7 Mg TgFT AT Frar?

Options:
1 ® d[OT

- B ﬁ-T-ﬂTI'
3 v arar

4_$slq?=ﬁ'q'

Question Number : 66 Question Id : 627289366 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the correct option.

(0.22)2+(0.11)*—(0.44)(0.11) _ :
(0.22-0.11) B

Options:
;. ®% -0.11

> % 022
5 o 011

4 % 022

Question Number : 66 Question Id : 627289366 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TEr Rerea g1

(0.22)%2+(0.11)%2—(0.44)(0.11)
(0.22—0.11)

Options:

L% =0.11

. 022
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3 ¢ 0.11

. =022

Question Number : 67 Question Id : 627289367 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Rajesh makes 103 runs in the 15t innings and thus increases his average by 4. The average after the 150 innings is:
Options:
1 @ 47

o W 48
T W 46

E 45

Question Number : 67 Question Id : 627289367 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TAer & 1537 91t F 103 W a4 FwE 35 g & 4 & g @ ) 158 9l & A 38k @ H
Hraa g
Options:

o> R 48
z B 46

g 45

Question Number : 68 Question Id : 627289368 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many years will it take for a certain sum to become four times itself at a rate of 15% per annum simple interest?
Options:
» 20 years

1
5 % 21 years

5 % 19 years

4 % 22Yyears
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Question Number : 68 Question Id : 627289368 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WIIROT ST 7 15% afves & W T Afvga oaufar oas avt & =g & I g smaeh?
Options:

| v 20 9%
o % 21 3
- % 19 9§

4 % 22 ¥

Question Number : 69 Question Id : 627289369 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Forty-five percent of a number is 33 less than three-fourth of that number. The number is:

Options:
;% 115

> % 125
5 % 135

i 110

Question Number : 69 Question Id : 627289369 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tk HEAT &1 45% 38T TET & Ji9-=iue 9T ¥ 33 &F g1 98 & &

Options:

. % 115

> % 125
- % 135

4« 110

Question Number : 70 Question Id : 627289370 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

! 1 2 "
One of the roots of the equation — 4+ — = 1 is:
x+1 x+2

Options:
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1.%3”@

2_%2

3.#’\@
4 % V2i

Question Number : 70 Question Id : 627289370 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TRl = FT T JA ¢

x+1 x+2
Options:

1_33‘\'@

2_%2

3.*-?”@
4%@

Question Number : 71 Question Id : 627289371 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A student’s score in language is 2 times as that of science. His ratio of score of language to math is 2 : 3. The total
marks scored in these 3 subjects put together is 180. His score in science is:

Options:
1 ® 40

4 W 32

Question Number : 71 Question Id : 627289371 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

v fagameft gart & # w7 B T e e & 9rea 3 § 2 e g1 3EF & AR At F
FH F HFANS 2:3 &1 31 At @A F 3TF I W FH F AT 180 g1 TS F 37F 3w §
Options:

1 ® 40‘
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> v 30
z ® 28

4 R 32

Question Number : 72 Question Id : 627289372 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Train A and B travel at speed of 60 km/hr and 40 km/hr respectively. They are of equal length. It takes 50 seconds for the
trains to cross each other when they are running in the same direction. If they run in opposite directions, the time taken to
cross each other completely is:

Options:
1 # 11 Sec

> % O 5ec
= % 12 Sec

4 « 10 Sec

Question Number : 72 Question Id : 627289372 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2r Yeentear A 3k B w39 60 Y er 3T 40 FEY ger #r i3 F T« ©r & S et &
SaTE WTER ¢ 3R I v & R F TS §9Y UF g F 9N A A 50 FhT H GET or §1 7R ¥
ol femat 7 =9, O 395 qmuﬁﬁq\alﬁ{frmmmﬁhdlé ITAT HT

Options:

4 v 10 TFs

Question Number : 73 Question Id : 627289373 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

10 men can make 5.000 chocolates in 5 days working 12 hours a day. In how many days can 15 men make 6.000
chocolates working 6 hours a day?

Options:
, % 10days
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> w 4days
5 o 8 days

4 % S5days

Question Number : 73 Question Id : 627289373 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

10 7% wfafest 12 o€ #1& &% 5 &A1 # 5,000 =Aehore 77 FFht &1 15 W I 6 T FF Hh
fraat et & 6,000 Twere oo T 22
Options:

s v 8 M

Question Number : 74 Question Id : 627289374 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Rice types A and B, worth T 60 per kg and T 65 per kg respectively, are mixed in a certain ratio, so that the shopkeeper
gains 10% by selling the resultant mixture at ¥ 68.2 per kg. The ratio of the mixture is:

Options:
1 W32

> % 1:2

Question Number : 74 Question Id : 627289374 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e T ar TREAT A 3R B & Jrg wAen T 60 9fa fFam Rk T 65 wfa e 1 5= v fAfRea
FIE H 36 YR R B Sar & BF e Hsor @ geeer T 68.2 gfa fham @ e @ a=e
10% =t 3ot T T fFmor &7 e &

Options:

1J32
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o ® 3 =2
z ® 2:5
4 % 3:5

Question Number : 75 Question Id : 627289375 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A shopkeeper cheats to the extent of 10% while buying and selling fruits by using tampered weights. His total gain in
percentage is:

Options:
L ® 22%

> o 21%
5 % 23%

4 % 20%

Question Number : 75 Question Id : 627289375 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g & TFeER BF Tl iR 9 H A $T T5aS 0 10% T UG & €, 58S HA oS
gicrera foraar grem?

Options:

L% 22%
ot 21%
5 % 23%

L % 20%

Question Number : 76 Question Id : 627289376 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A block of wood floats in water such that two-fifth of its volume is under water. Let @y, and d,,, be the density of the
block and water. Then dy/d,, is:

Options:

1 ® 0.2
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o o 0.4
T #® 0.6

4 B 0.8

Question Number : 76 Question Id : 627289376 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FET FT TF Al T H SH TP ol ¢ o5 IHFT S-Ur=ar 6T I=T & A= T g1 AT ai=e
dp T d,, Faw: ToF AT 9= FouaeT g Ardy/d, 2

Options:
1 ® 02

>« 04
= ® 0.6

4 B 0.8

Question Number : 77 Question Id : 627289377 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is thrown vertically upwards and rises to a height of 313.6 m. The speed with which it was thrown is:
Options:
1 % 19.6 m/s

> % 29.4 m/s

4 « 78.4mfs.

Question Number : 77 Question Id : 627289377 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fordr avg #t searaT Rem # s & 3K FF S@ § 3R 37 313.6 Hiex #F FuE g% 1 g 50 5
S Fr AT §

Options:

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 2



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 2

5 % 39.2 Hey/aFs

4 v 718.4 Hey/EFE

Question Number : 78 Question Id : 627289378 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is placed on the principal axis of a concave mirror at a point between focus and centre of curvature. The image
formed is:

Options:
,  Realand enlarged
- % Real and of the same size

=z # Real and diminished

4 % Virtual and enlarged

Question Number : 78 Question Id : 627289378 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TH IEG H HIAA GUUT & HEA HET [T W SHF Whd AR TS F &g & 9= @ 14T g &F @R
o= o &
Options:

| v TEATEE AT HER H T2

. % FTEAEH HR FHAT HHR H

- arEdfas HR FHiEd

L, w FTHTEr 3R HHR H a9

Question Number : 79 Question Id : 627289379 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ray of light passes from air to a medium 1 (refractive index 1.5) and then into medium 2 (refractive index 1.8). As the
ray travels, it bends

Options:

, » away from the normal in both the media

> « towards the normal in both the media
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- % away from the normal in medium 1 and towards the normal in medium 2

, % towards the normal in medium 1 and away from the normal in medium 2

Question Number : 79 Question Id : 627289379 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

eRTer Y T faR0T gaT @ @ g AvIH 1 (3aow g 1.5) F 3R B w2 (Greeds guee 1.8)
IR &1 TR0 AT 9 v q5 ST 2

Options:

|y G ATETHE A RS g
. o G| ATeTAT F HiFeEs FraRw

ATH 1 # fEee & g7 3R Aeww 2 7 fEees Fr T

z W

AreTH 1 H HiEeET Fr 6 A#R Areaw 2 7 e ¥ gy

4 %

Question Number : 80 Question Id : 627289380 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object. 1.5 cm in size is placed 15 cm in front of a convex lens of focal length 10 cm. The size and the nature of
image formed are respectively:

Options:
1 % 3 cm., erect

5 3 cm, inverted
2 R 6 cm, erect

4 % 6cm, inverted

Question Number : 80 Question Id : 627289380 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1.5 HEAET TR Aol T aFg H 10 HEHAET Bihd gl aTf 3eadl ofF & AAS 15 TR H g
T TG S §| S T of & AR 3R gt FeEen g

Options:

| » 3.0 #&eT, FFEg

L

- » 3.0 GEART, 358
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. « 6.0 €A, FFad

, » 6.0 TIHRET, 3+

Question Number : 81 Question Id : 627289381 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following compounds has a higher solubility in water?

Options:

1 ® CH-I-

> « NaCl

- % CoHe

4 u CeHe

Question Number : 81 Question Id : 627289381 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o H AT # ¥ By Oifte & fewar s=mar e
Options:

| % CH4
> « NaCl
- » C2He

4 » CeHg

Question Number : 82 Question Id : 627289382 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which compound among the following has carbon-carbon double bond?

Options:
. » CHy
> % C4Hig

5 » CoHe
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4 v C2Hy

Question Number : 82 Question Id : 627289382 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ArateaT # ¥ & diFe # sea-wea gaesy gar 872

Options:

| % CH4
- » C4H10
- » C2He

4 v C2H4

Question Number : 83 Question Id : 627289383 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following represents the mass of one mole of aluminum atoms?

Options:
. % 2.7 gram

5 of 27 gram
5 % >4 gram

4 % 5.4 gram

Question Number : 83 Question Id : 627289383 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o 7 @ T O ooy tegAifaas SwATHT & U AT # GeuA guldr g7

Options:
1 ® 2? aTH

=z ® 54?IFH'

4 R 54 TMH
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Question Number : 84 Question Id : 627289384 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The functional group amine is represented by which of the following formula?

Options:

1 Q;'NH:}_

> % -CHO
= W -OH

4 #® -CIN

Question Number : 84 Question Id : 627289384 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

RraTers Tg wEEs # BT § ¥ R gF eI S e

Options:

i -NH2

. % -CHO
=z ® -OH

4 R -CN

Question Number : 85 Question Id : 627289385 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Each member of a homologous series differs from its succeeding or preceding member by:

Options:
1, v HE
3 % CHy

4 B -CH

Question Number : 85 Question Id : 627289385 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TATA 0T &1 Ioish HETT 3T 3caiddl HYET qaad Fexd & T e 2T B

Options:
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 ap b2
> » -CH3
5 » ~CH4
4 % -CH

Question Number : 86 Question Id : 627289386 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which form of classical Indian painting has its origins and is popular in South India?

Options:
| « Tanjore Paintings

> w Warli Paintings
5 ® Mithila Paintings

, % Santhal Paintings

Question Number : 86 Question Id : 627289386 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ﬁmﬁ@ﬁﬁ%wﬁmmmwm#Hwaﬁr:ﬁﬁda‘ﬁﬂwmﬁgaﬁra’r
ol

Options:

| v =i RrEeEen
o % T RrFeper

= » AT Ryear

4 % TUTS RrEeeen

Question Number : 87 Question Id : 627289387 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which year did the Congress Party win the first general elections under the leadership of Jawaharlal Nehru?

Options:
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, % 1960
o> o 1951
5 % 1949

4 % 1948

Question Number : 87 Question Id : 627289387 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HATELATS AE® & Aded H HEH T F TgAT HH SEICECT: ¥ H Iar o

Options:

. % 1960

. » 1951
- % 1949

. % 1948

Question Number : 88 Question Id : 627289388 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which state in India has the largest forest cover?
Options:
, » West Bengal

-~ % Assam

=  Madhya Pradesh

4 % Kerala

Question Number : 88 Question Id : 627289388 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

9T & T U0 # @99 927 9919 & 27

Options:

| w OIPEH 9

2_2.33-178??
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5 HET 9

4_%%

Question Number : 89 Question Id : 627289389 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When does deflation occur?
Options:
, % When there is a higher production due to increase in the prices of goods

> % When there is a surplus official money overseas

- % When there is an increase in the price of goods & services

4 + When inflation rate falls below 0%

Question Number : 89 Question Id : 627289389 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

sgEhRify & Ty e 8 22

Options:

| x 9 T H FHA F JE F FROT cqEA AEF @ g

. « % e 7 dfafea nfawie o 2 &
. w o9 A AR Fat F fraa A iy g 3

, o T TEERE #r 2T 0% F A BR S #

Question Number : 90 Question Id : 627289390 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is NOT a fundamental right as per the Constitution of India?
Options:

1 Right to Work

> % Right of Equality

- » Right of Freedom
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, w Rightto Religion

Question Number : 90 Question Id : 627289390 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

aeoag § ¥ #37 9Rd & TEU & 339 T Al ARt J8r 872
Options:

| v TSR T AFR

o # AT F HEFR
5 % FEIIAT F AHEHER

, « ONEF (FFIFaT F) HAHR

Question Number : 91 Question Id : 627289391 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A team of Indian astronomers has recently discovered an extremely big super cluster of galaxies. What is it being
referred to as?

Options:
L ® Agni

> o Saraswati
z % Ravi

4 % Devi

Question Number : 91 Question Id : 627289391 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT WIeIaal & Uk &l o a1l &1 H HFREEs & ve #fa Fre a69g (g o)) 1 s &

gl TH FIT Fgr S W 87
Options:

1_%&3{%{

5 o BEEA
3_&11%
4.%331#
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Question Number : 92 Question Id : 627289392 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Where will the 2018 Table Tennis Team World Cup be held?
Options:

, w» Kuala lumpur

> « London

- w Beijing

4 % Sydney

Question Number : 92 Question Id : 627289392 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I¥ 2018 H oA AT o 395 &9 FgT ¥EOfSg Far ArTem?
Options:

o  oleoel
o ® CliEE)

4.241-'@75?11'

Question Number : 93 Question Id : 627289393 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who became the world's youngest International Master in chess in 20167

Options:

1 Praggnanandhaa R

- % Parimarjan Negi

5 % Abhimanyu Puranik

4 % Vishnu Prasanna V

Question Number : 93 Question Id : 627289393 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Y 2016 A oS H (393 T FEF T AU A i g1 412
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Options:

| v TAHATET AR

=

. TESU] gEeST AT

4

Question Number : 94 Question Id : 627289394 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which state government recently signed a MOU for the hyperloop between Vijayawada and Amaravati?

Options:
1 + Andhra Pradesh

> w lelengana

- % Kerala

4 % Tamil Nadu

Question Number : 94 Question Id : 627289394 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e T=7 TR A Fa & 7 faegarEr At et & 99 gewey F v gasiar /e @
gEareT & &7

Options:

l_ﬁ;aﬁHE?RT

gﬁm?ﬂ-
3.&1%
dfder a8

4 % 3

Question Number : 95 Question Id : 627289395 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who invented the telescope?

Options:
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, « Lippershey
- % Edison
5 » Copernicus

4 % Newton

Question Number : 95 Question Id : 627289395 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gTaTe T TR foras forar ar?

Options:

13%?@?

g_w?ﬁ'ﬂ?-r

Question Number : 96 Question Id : 627289396 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is the odd one out?

Options:
1 % Distinct
> % Different

3 « Similar

, % Separable

Question Number : 96 Question Id : 627289396 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TafefRa 7 ¥ #iaar A 87
Options:
1 % Distinct
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> # Different
2 « Similar

4 » Separable

Question Number : 97 Question Id : 627289397 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the anology.

Bba:aBB : : Mmn :
Options:
1 « nMM

-~ % nmM
2 % MMn

4 % Mnm

Question Number : 97 Question Id : 627289397 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T H [T
Bba : aBB :: Mmn :

Options:

1 W nMM
- % nmM
o B MMn

4 % Mnm

Question Number : 98 Question Id : 627289398 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select a set of letters which forms a word having similar meaning as that of the words on the right and left side of the
brackets.
SHOOT ( ) FLAME

Options:
i ® LAMP
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> % CANDLE
= « FIRE

4 % STICK

Question Number : 98 Question Id : 627289398 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I g T foraer 7Y FIveH HT a5 oS AR T HWE GV AT oedl F 3T F FA g
SHOOT ( ) FLAME
Options:

, = LAMP

- % CANDLE
5 ¢ FIRE

. % STICK

Question Number : 99 Question Id : 627289399 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following options. when joined by each set of letters in the image as a prefix. forms a meaningful word?

RI

Cg

NE ()
F
Options:

1 ® IED

5> « VER

2 % WED

4 % CES

Question Number : 99 Question Id : 627289399 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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T 7 O FlF-ar o TeeT ¢t 50d vF 3997 & & H % I W = # Tmr @ gl2e e
ITH TF AF A A FAAT 872

RI
e
Options:

. % [ED
- ¢ VER
-« WED

. = CES

Question Number : 100 Question Id : 627289400 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If @ means +, f means —, ) means x and & means + then the value of the expression8a 6 8 66 6y 2is:
Options:
1 ® 1

2_%[}

= % 10

4 ¢ 12

Question Number : 100 Question Id : 627289400 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T a T HT + f T HT —, y T T x A0 T 3T+ &, A T 8a 68 660 6y 2 &
e @

Options:

1 &% 1
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